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m=0.163  , A=186 kpsi
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m = 0.201,   A = 1510 MPa

MPa1314
2
1510S 201.0ut ==

Ssy = 0.75× 0.577×1314 = 565  MPa

D = 20 � C=20/2 =2

05.1
20
21ks ==

Na = 8.5 – 1 =7.5

Ls = 2 × 8.5 = 17  mm
�(

N5.84
)02.0)(05.1(8

)10565()002.0(
Dk8

Sd
F

63

s

s
3

s
y =

×π
=

π
=

�(

m
N2640

)02.0)(5.7(8
)002.0)(103.79(

ND8
Gdk 3

49

3

4

=
×

==

���(

mm501733LyLmm33
2640

105.84
k
F

y s0

3
s =+=+=⇒=

×
==

�(

mm88.55.8
50

N
LP

t

0 ===

4(

mm2.105
5.0

2063.2D63.2Lf =
×

=
α

= � 5/- .-�/0  �1� ��� 2���"��" ��!   .



��
Nt = Ls / d = 14.35 / 1.4 = 10.25

D = 12.19 – 1.4 = 10.79  mm �  C = 10.79 / 1.4 = 7.707

Na = 10.25 – 2 = 8.25 ����
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m = 0.163 , A = 2060 MPa
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m = 0.201 , A = 1570 MPa

MPa8.1365
2
1570S 201.0ut == �  Syt = 0.75 × Sut = 1024  MPa
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m = 0.163, A = 186 kpsi

D = 0.654 – 0.055 = 0.599  in
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